Can you challenge yourself towrite the
multiplication numher sentences?

Introducing Multiplication in 2s

Count in 2s.

There are 5 pairs of shoes. How many shoes are there altogether?
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There are 4 pairs of hands. How many hands are there altogether?

hands

There are 7 pairs of wings. How many wings are there altogether?

wings

There are 6 pairs of socks. How many socks are there altogether?
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There are 9 pairs of ears. How many ears are there altogether?

Challenge
Draw 18 shoes in pairs. How many pairs are there?




